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IInd Year Commerce Examination, 2017
ACCOUNTANCY AND STATISTICS
Paper — IIT
(Cost Accounting)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(@vs-a1)
Answer all questions (50 words each).
All questions carry equal marks.

Tl wv afEd ®1 TRE WeT F IW|W 50 I o
aferer 7 8N et v ® oiF wEe #

PART-B [Marks : 50]
(Evs-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TAF THFE ¥ UH-UH WA T §¢, |/A Ure FF R
THF T W IW 250 VR ¥ A T w
Tft TR ® I T 2
PART-C , [Marks : 30]
(Tve-9)
Answer any two questions (300 words each).
All questions carry equal marks.

TS S U9 HINT T&F Y9 FHT ST 300 I W
after = 8 gl v B ofF TEm
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(i)

(i)

@(iv)

)

PART-A
(Gue-37)

UNIT-I

(FFRE-D)
Distinguish between Direct and Indirect Cost.
TEY T IS AN H SRR waed|
What is Bin-card ?
fm #=E fF #w0 § 2

UNIT-II

(FFTE-1D)

Distinguish between the Normal and Abnormal
Idle Time.

T T MR HREE T W oK Sagd|
What are the different methods of absorption of
factory overheads ? ’

FREF SIREE ® sEwnyw &1 fafes ﬁﬁm
wH-FA-T T ? |

UNIT=III

(FTE-110)

What is the formula for calculating "Utilisation Ratio"
for transport vehicles ? '

maﬁwmﬁm“mm
TH HE HOGA B2
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(vi) Distinguish between By-product and Joint-product.

3R T TE-SAR ¥ SRR SaEdl

UNIT-1V

(FFE-IV)
(vii) Give Journal entry for purchase of raw material for
' special jobs under integrated system.

WW$WWW$W
mmmaﬁaﬁauﬁf&ﬁﬁm

(viii) What do you mean by reconciliation of cost and
financial accounts ?

T e dw ® e ® emwer @
st # 2 |

UNIT-V

FFE-V)

(ix) Find out margin of safety if profit is ¥ 20,000
and P/V ratio is 40%.

T HH @ HIE afg w9 T 20,000 v og
U SO 40% ®
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_(x)  Calculate ActuilﬁLgbour Hours if Standard Hours
60, Standard Wages Rate ¥ 20 per hour, Labour
Efficiency variance ¥ 320 favourable.

YA U2 60, YT Wer §¥ T 20 W WU aem
$W FRIGIE e T 320 oTHET, W ARG(oh
™RG WU §E

PART-B
(@uz-v)
UNIT-I

(FE-1)

2. "Cost Accounting System is neither unnecessary nor

expensive, rather it is profitable investment." Comment.

‘TR SRR TSR A @ SFEYEE ® SR A € etwert,
sy T aEeE fafEm 8 e i
a OR (37%e)

3. A company is considering a selective control for its
inventories. Using the following data, 'prepare "ABC" Plan
and also show it by graph : (5+5)
™ FA Eta feem gt wenl w fe s
2 frr wdw W wWema ¥ ‘e 9w Ao S
A W WE IW W I
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Items Units Per Unit Cost
(%) (Ea) | (v TR @)
I 700 5.00
i 1100 5.00
I 400 12.50
LY 1000 0.30
\% 500 6.00
VI 800 3.00
VI 1000 | 3.10
VIII 500 2.60
X 500 £ 9.00
X 3500 0.40
UNIT-TI
(FTE-1D)

4. Two workers Vinod and Shankar produce the same
product, using the same material. Their normal Wage Rate
is also the same. Vinod is paid bonus according to Rowan
system while Shankar is paid bonus according to Halsey
system. Time allowed‘to make the product is 100 hours.
Vinod take 60 hours while Shankar takes 80 hours to

| complete the product. The Factory overhead rate is
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< 10.00 per man hour actually worked. The Factory Cost
for the product for Vinod is ¥ 7,280 and for Shankar-it is
T 7,600.

You are required to ascertain :
(@) Normal Wage Rate.
(b) Cost of Material.

(¢) Statement of cost of the products made by two
workers. (3+3+4)

T FHAN AR T ER TE HE A w1 W
T W IR w1 A w # S w e
w ot wm ®1 AR w9 w gw Jom Tsl
% OMER fFa W ¥ SEfF v H §FE W g
T TS ¥ R W R SaR @ R wfea wwe
100 w02 ¥ S W R H PER 60 W o €
Safeh VE 80 WU WAl ¥ FRE@M SRS W
arfaR AW AW T 10 %) wWEE AW R B R
T 7280 T W F A T 7600 B1 M9 T HIH :
() T Rl =

(9) il @rmEl

(@) T wHERE W R R T SAR w9 e

w1 faeor =
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OR (=79am)
5.  Differentiate between allocation, apportionment and
absorption of overheads. Also explain in brief the various
methods of absorption of Factory overheads. (545)

SISl % ded, SYNH U§ S@Evime H SRR §aEd|
FREM JuREEl # eEvive W fafv= fafmi = o
Teq H OuEEd

UNIT-III

(3REE-11)

6. A truck starts with a load of 10 tonnes of goods from
Station P, it unload 4 tonnes at station Q and rest of the
goods at station R. It reaches back directly to Station P
after getting reloaded with 8 tonnes of goods at Station R.
The distances between P to Q, Q to R and then from
R to P are 40 kms, 60 kms; and 80 kms. respectively.
Compute ‘Absolute’ tonne-kms. and ‘Commercial’
tonnes-kms. |
Also explain basic difference between Absolute tonne-kms.
and Commercial tonne-kms. (4+4+2)

TH TH 10 H WA W N WIE W @A e,
4 T A T WIA W A0 Y AR AR VYA | @l
fFam 2% o V¥ § 8 T W W TH: W W
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T Rym % fou @ ogem @ ® ¥, W W A
FR ® 0 WA % "W g wEw: 40 fRe, 60 R
qen 80 feet #1 ‘FrRYe’ = fReiniie dan Cenforfae
=7 feamier w1 O FifE
yE = frade 3 afnfes o feads ¥ v
IR Al =R
OR (372r5am)
7. Explain clearly the difference between by-product and

joint-product. How are they treated in cost-accounts ?
' (5+5)

maw—mﬁwmn'mwﬁ
T W R TR R W ¥ 2

UNIT-IV

(FFTE-1V)

8.  From the following information drawn from costing records
and financial books of a factory, you are required to pass
necessary entries in the cost journal, assuming that a
system of maintaining control accounts prevails in the
organisation. 10
T HREA & AFE & fodE g | @ T fre
geAell ¥ 98 WM gU R wTeR # freem u o ®@
I ¥, STOvEs SHo wafedl i
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Items - - 4 - Items . ¢
Purchases 3,90,000 | Works on Cost 3,48,400
Carriage Inward - 5,850 | Materials used
Stores Issued 3,58,800 in Repairs 3,120
Productive Cost of Completed

Labour 3,46,320 Jobs 12,80,630
Unproductive ‘

Labour 1,21,680

OR (3727E)

9. What do you mean by Activity Based Costing ? How does

it differ from Traditional Absorption Costing ?

(5+5)

fiFm oMU @ oRaiRT W oT9e ¥ aed ® 2 U
RS AT W e ¥ R veR i €2

UNIT-V

FFE-V)

10. The following information is provided :

Ratio of variable cost to sales 60%.
BEP occurs at 80% of sales.

"Fixed cost T 2,00,000/-

Ascertain : ‘

(@  Sales capacity and Sales at BEP.
(b)  Profit at 90% Sales capacity.
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11.

= = & o #
qRadTefier @ faswa = 60%
Tfa=sR fag fawa & 80% ™
Tt @ T 2,00,000

I FST

(@) WWWAWMWWI
b) foFF F 90% TR | @9 =T 4l

OR (37&4)

A manufaéturing concern which has adopted Standard
Costing furnishes the following information :
Standard :

Materials for 70 kg. Finished products 100 kg.

Price of Materials < 1/- per kg.
Actual : | '

Output 2,10,000 kg

Material used _ 2,80,000 kg

Cost of material _ < 2,52,000
Calculate ;
Material Cost Variance; Material Price Variance and
Material Usage Variance. (3+3+4)
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12.

13‘

wF fPrfel den 3, Wmmmmﬂm%
frafafe e €

CHAS
Tt 70 kg, AR IR 100 kg..
et S T 1 perkg.
T ;
IEUTEA 2,10,000 kg
el SET W @ 2,80,000 kg
oG UG Z2,52,000
T WIS

gt @ faewer, g ged faeer @ anht seEn
fermron| |

PART-C
(@us-7)
UNIT-1

(FFT-1)

What do you mean by Cost ? Explain clearly different
elements of Cost ?

‘T ¥ F oMU 2 wrm ® fafem @l @i
WEd: R

UNIT-1I

(3FTE-1D)
In a Factory the factory overheads are charged on a fixed
percentage of wages and office overheads are calculated
on the basis of percentage of works cost.
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14.

Following 1nformat10n are available :

Items Product 'A'  Product 'B’'
4 4
Materials 25000 36,000
Wages 20,000 28,000
Sales Value 85,800 1,23,760
Percentage of profit on cost 10% 12%

Find out the percentage of factory overhead to wages and
percentage of office overhead to works cost.

TF FREM § HREA SUREE weEd » ww fifvem
T ® MR W WS R WA iR wwem
SIS FREAT @G ® IReE. & YR T 9 g el

e gt ST €

7R 3O A’ IAR B
T 4
[T 25,000 36,000
aH 20,000 28,000
[eER R 85,800 1,23,760
WA W a9 B K 10% 12%

Wmmm@@wmmm
FREM NG ¥ IR F@ i

UNIT-1II

(STE-11)

A company produces a machine and sells it for
T 300. An increase of 20% in the cost of material; 10% in
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15.

labour and 10% in overhead cost is anticipated. The only
figures available are material cost 50% of cost of sales;
labour cost 30% of cost of sales and overhead cost 20% of
cost of sales. _

The anticipated increased cost in relation to the present sale
price would cause-a 30% decrease in the amount of the
present gross profit. What should be the selling price of the
machine to give the same percentage of gross profit as
before ? /

T FUA TH A S T 300 § S=et @1 @i @t
A W 20%; 99 B A0 R 10% a1 SURSAI W AN
¥ 10% # gy veoim 21 Frefafen o3 STere
g AP foRa T 6 50%; SM A fasea e w6
30% T SR fasa @ # 20% R

TERE @ g W T AR e % SR R FHEE
HoHa o9 § 30% 1 FHH E SR 39 Wi w e
e T IR, AR Ther a9 H aaAE giava € st
FHE B

UNIT-1V

(FFTE-IV)
Prepare Memorandum of Reconciliation Accounts on the
basis of the following information obtained from the books
of a manufacturing unit for the year 2015-16 :

wswﬁawrﬁa%aﬁzolsﬂsaﬁgmaﬁ@mﬁn
e B R W TR e @ s
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4

(i)  Profit as per cost-records estimated 3,44,800
@) Profit as per financial books actual 2,57,510
(ii)) Works overhead under absorbed

in cost accounts | 6,240
(iv)  Administrative overhead are over _

absorbed in cost accounts 5,000
(v)  Selling overhead recovered less in

cost accounts : 1,600
(vi) Depreciation absorbed in cost

accounts | 25,000
(vii) Depreciation charged in financial

books . 22,400
(viii) Loss due to obsolescence charged

in financial books 11,400

(ix) Interest on Investments not included

in cost accounts 116,000

- (® Income tax provided in financial

books _ 80,000
(xi) Bank interest and transfer fees

accounted in financial books only 1,500
(xii) Stores adjustment credited in

financial books only 950
(xiii) Loss due to depreciation in stock

values—accounted for in financial

books only 13,500
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UNIT-V

(FFE-V)

16. Write short notes on the following :
frafafer = wfyw feofal fafeg .
(a) Break-even Point.
wm-fosr fag)
(b)  Profit-volume Ratio.
H-AE S|
(c) Classification of Variances.
oo =1 afieto|
(d) Current Standards.
=] TH
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